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Name: Period:
34
’—\5?\’\0\ ? \\.  Using Several Methods of Factoring
42\~ 5°
153 25 - 245 X(x=b) (X+4) 2. 450 - 36
3. a3 - 16ab? 4. 6x3 - 4x2 - 2x
5.3%x2=192 6.x4-10x2+9
7.a%-b* 8.(x-3)2-1
9. 30x2%y + 5xy - 10y 10.3a%2-75
11. 3x% + 12xy + 12y? 12. 4x* - 38x3 + 48x2
13.18x3 + 24x% + 8x 14.2y*-9y2 + 4
15.v*-5v2+4 16.4x3 + 28x2% - 120x
17.3(a-1)2-27 18. 45%2 - 42x3 - 24x*
19.x%(a-b) - (a-h) 20.4(y - 5) -y%(y - 5)
21.80 - 120p + 45p? 22.8p3q - 18pg3
23.180x%y - 108xy? - 75x3 24.81a+ 18a3 + as
25.xX%2-4y? - 4x + 4 26. m8 - n8
27.3x5+ 15%2 - 108x 28.(u-v)E+v-u

29.16t4 - 82 + 1 30. 10xy3 + 35xy2 — 150xy




Name: Period:

4| - 04d Solving Equations by Factoring

1.2(a-6)=0 {O)("} 2. (x+ 6)(x - 3) =0

o

3.5x(x-1)=0 4. (f+4)(2f-5)=0
5.(n+2)(n+6)=0 6.24n(n-11)=0
7.nn-1)(n-2)=0 8.x(3x-5)(x-1)=0
9.x2-7x-18=0 10.22+z-6=0
11.x2-x-20=0 12.x2=25=0
13.a3-9a=0 14.2a?-8a=0
15.x2=49 16.2x2+x=6
17.a2=5a-6 18. (x-3)(x+8)=-30
19.4x3-12x2+8x =0 20.2n3-30n2+100n=0
21. 93 + 9x = 302 _22.9x3 + 25x = 30x2
23.y*-10y2+9=0 : 24,u>-13u3+36u=0
25.(z+1)(z-5)=16 26.(2t-5)(t-1)=2
27.(x-2)(x+3)=6 28.(a-5)(a-2)=28

29.x(x-6)=4(x-4) 30.3(m+ 2) =m(m - 2)
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Name: Section:

Using Several Methods of Factoring

136- 25 - 2ax XOCOY(XHY) 5 4o ae 4l xED (XD

3.a3- 16ab2_NALIBY(D-YR) 4 exo - axz— 2y OX(3% x-1)

5.3~ 192 3 (%48) (1-F) 6.x¢— 10x2+ 9 _[X 3N 5 G-1)

7.24-bt [} 'f!_%;l) [ICH"%)(/?—'&} 8 (x-3)2-1 (/("9) (X’(/J

9.30x%y + 5xy - 10y ST D10 32275 3(A45) (4 -5)

L
11.3x2 + 12xy + 12y? 3(x4h) 12, 4xt - 385 + 4832 X (x3) (x-5)

5 . |
13. 1850 + 2432 + 8x X [3X4)” 14 9ue ayz 44 (=D Y1) (1)

15.v4 - 5y2 + 4 [K/"HVV‘D (I/'ffol)/l/ﬁ}m_ 453 + 28x2 - 120x X [X?VGY X‘3>

17.3(a - 132 - 27 3 (ARXD -4/} 18. 452 - 423 — 24x+ SX° (f%%)/i~ﬂ/ir)

19, 3(ab) - (a1 (A -BGHNY 5y Ay -5) - 7y -5 (Y-5)aD (>-9)

21.80 - 120p + 45p? 5‘(4 SP) 22 8pq 18pq3 QPQ(&P%gQ)@P 3&3

23, 180x%y - 108xy? - 7533 X (34~ 5@ 81a+ 1820+ a5 AL

g5yt dwas X -MM)(X-A’};Q 26— s (M) () () (-1

27.3x> + 15x3 -~ 108x gX(X+QBCX";§ zxg-%(d_ v)3+v-u (it~ V) [H’V‘f'h € *V‘D

) X o
29. 16t~ 82+ 1 (A HY (BT} 30, 10xy% + 35%y7 - 150xy sYI0-5)(Y+6)



Name:

key GoPly.

Section:

Solving Equations by Factoring

Laa-6)=0_ L0653 2 (x4 6)(x-3)=0_ S 3 (<
3.5u0x-1)=0__50, 1% wteai-s=0_ 571 B
5.(n+2)(n+6) =0 $-y7b5 6.24nn-11y=0_ 50,15
7.11(11-'1)[11—2)=oif{\ /) 25 8. x(3% - 5)(x ~1) = 0 ;0,}‘3% E
9.x2-7x-18=0 %77! 23 10.22+2-6=0 f@w}?
11, -x-20=0 55). Y2 12 xe-25=0 ?;535}

13.2%-9a =0 50;"3J5§ 14,22 -8a=0_ S0, 45

: = . B =
15.x2=49 227)75 16.2x2+x=6 f—‘g“’i‘g
17.02=5a-6_ 2 3% 18, (x - 3)(x + 8) =-30 $-3,725
19.4¢ - 1222+ 8x=0 5 0,012 20,20~ 30m2 + 1000 = 0 2951 /‘/7

21. 9% + 9x = 30x2 {0113 f 22.9%3 + 25x = 30x? 7(0) 55

Ak PR = SRR s T s
23.y*-10y2+9=0 ;5) 54 }§24.u5—13u3+36u=0 7/(‘9;3} 5,9, E

| i
25.(z+ 1)(z- 5) = 16 ﬁfﬁ 26.(2t-5)(t-1) =2 55;35

27. (x-2)(x+3)=6 5“7132 28.(a-5)(a~2) =28 ?/C/ﬁf‘;g

2 o
29-X(X*6J=4[X—4)j§)§z 30.3(m+ 2) = m(m - 2) ?‘/;é?




